A3 : ol

ByreRBAREBLEERALHEB LA RRA

#B :HHLT

M

1

% 51
Rz%® & H

(D-(10)85 8 2 BAFRAMRE TER Rt EXA—HE T2

1. A car is racing along the elliptical route z2/9 + ¢2/16 = 2500m®. When
the car is at the point (120m,120m), & man at the point (30m,0) determines
with radar that the distance between him and the car is increasing at the rate
37m/sec. Find the speed (m/sec) of the car at that moment.
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2. Find 51:1_1)1%' (sinacr: - m—ﬂ)
3. Given f(z) = In{l 4 z + =?), find f@®*}(0), where k > 0 is an integer .
4. Find the arc length of the curve y = 72/2 fromz =0 to £ = 1.

5. Find the volume of the solid generated by revolving the region enclosed by

the curve y = 4—_1;—2, the z-axis, z = 0 and z = 1.
6. Let g(x) be the inverse function of f(z) = z(lnz)® for £ > 1. Find
€

/0 g(z)d.

7. Find the tangent plane to the surface z° + y® 4+ 2% — 325223 = 0 at the
point z=1,y=1and 2= 1.

8. Find the local minimum values of f(z,y) = 23 — 122y + 84°.

y=2 pz=2 5
9. Evaluate f f e’ drdy.
y=0 Jz=y

10. Solve the differential equation ¢’ cosz + ysinz = cos® z, y(w/4) = 1.
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A. Evaluate ff Vz? + zy + y2dzdy, where Q = {(z,y) : 2% + sy + ¥ < 1},
o}

by first making the change of variables u =z + %, v = —‘—/-_33 and then by polar
coordinates.

B. Let T be the intersection curve of the two surfaces z3+2y®+32°% — 2zyz = 4
and z? + y* + 22 = 3. Find the unit tangent vector to I" at the point (1,1,1)
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